

FLOYD COUNTY BOARD OF EDUCATION Anna Whitaker Shepherd, Superintendent 442 KY RT 550 Eastern, KY 41622 Telephone (606) 886-2354 Fax (606) 886-4550 www.floyd.kyschools.us

Linda C. Gearheart, Board Chair - District 1 William Newsome, Jr., Vice-Chair - District 3 Dr. Chandra Varia, Member- District 2 Keith Smallwood, Member - District 4 Steve Slone, Member - District 5

<u>Consent Agenda Item (Action Item)</u>: Approve an agreement between the Floyd County Board of Education and 7 Mindsets to provide SEL curriculum, lessons, resources, materials and text for grades k-12.

Applicable State or Regulations: Board Policy states that only the Board of Education may enter into contracts and agreements.

<u>Fiscal/Budgetary Impact</u>: The cost of the curriculum is 348,000 and will be paid from ESSER funds.

<u>History/Background</u>: Mindsets are ways of thinking that influence our feelings, thoughts and actions. Mindsets are rooted in emotion, they affect our relationships, and our quality of life. What separates the 7 Mindsets from other SEL programs is that we nurture the mindsets of both students and educators. The activities and experiences make participants more receptive to change and offer tremendous opportunity for personal growth. The 7 Mindsets empowers both students and educators to live lives of passion, purpose, and meaning by positively changing the way they think about themselves and their future.

Recommended Action: Approve the agreement between the Floyd County School board and & Mindsets to provide SEL curriculum to all Floyd County Students

Contact Person(s): Leslies Derossett, Rachel Crider

Principal	Rachel Clicker Director	Superintendent
Date:		



Quote Number

Quote Date

00002522

7/27/2021

Expiration Date 9/10/2021 Email Phone Duane Moyer

+1 4043542930

Prepared By

duane@7mindsets.com

CONTACT INFORMATION

Contact Name

Leslie Ousley

Prepared For:

Floyd County Schools

Email

leslie.ousley@floyd.kyschools.us

Billing Address

106 North Front Avenue

KY 41653

Notes

Quote Notes:

District SELECT Coaching solution to support district-wide implementation fidelity for three years.

Year 1: School SELECT 1 for 12 Campuses - Pre-K through 12th grade, includes all Alternative Schools - Private trainings sessions for teachers, 3 coaching consultations, curriculum for staff, students and parents.

Year 2 and Year 3: School SELECT Basic for 12 Campuses - Pre-K through 12th grade, includes all Alternative Schools public webinar

trainings sessions for teachers, 2 coaching check in consultations, curriculum for staff, students and parents.

3 year agreement paid annually or a 3% discount in year 2 and 3 available if all three years prepaid

Terms

License Start Date 7/1/2021

License End Date

6/30/2024

Subscription Terms 3 Year

Payment Terms

Net 15

Product	Product Description	List Price	Sales Price	Quantity	Total Price
District SELECT A - New Multi-Year	SEL Coaching for District implementation and rollout, Access for District Personnel to 7 Mindsets SELEQUITY Online Courses and Resources, 2 Adult SEL Virtual PD events	\$20,000.00	\$20,000.00	1.00	\$20,000.00
District SELECT A - Renew	SEL Coaching for District implementation and rollout, Access for District Personnel to 7 Mindsets SELEQUITY Online Courses and Resources, 2 Adult SEL Virtual PD events	\$20,000.00	\$20,000.00	1.00	\$20,000.00
District SELECT A - Renew	SEL Coaching for District implementation and rollout, Access for District Personnel to 7 Mindsets SELEQUITY Online Courses and Resources, 2 Adult SEL Virtual PD events	\$20,000.00	\$20,000.00	1.00	\$20,000.00
SELECT 1 - New Multi-Year	Full Access to 7 Mindsets SELEQUITY Online Curriculum and Resources, Adult SEL Virtual Professional Development Session, Implementation Coaching and Support	\$10,000.00	\$10,000.00	12.00	\$120,000.00
SELECT Basic - Renew	Full Access to 7 Mindsets SELEQUITY Online Curriculum and Resources, shared Virtual Professional Development Sessions, ongoing support	\$7,000.00	\$7,000.00	12.00	\$84,000.00
SELECT Basic - Renew	Full Access to 7 Mindsets SELEQUITY Online Curriculum and Resources, shared Virtual Professional Development Sessions, ongoing support	\$7,000.00	\$7,000.00	12.00	\$84,000.00



Subtotal

\$348,000.00

Grand Total

\$348,000.00

License applies to the following School(s) or Group(s)
Product Terms & Definitions
License Terms
License to 7 Mindsets Online Portal <i>means</i> access to all Student and Educator Curriculum (Self-Paced, and Facilitated Group Modules), Resource Hub, Leadership Zone, Parent Resources, and all supporting materials.
7 Mindsets online portal may be accessed at www.7mindsetsportal.com. Renewal notification details will be sent sixty (60) days prior to License End Date. Invoices will be generated within thirty (30) days of License End Date.
License delivered pursuant to License Start and End Dates listed in the above terms.
Professional Development Terms
7 Mindsets Professional Development means Onsite and/or Virtual Training and Implementation Services. Scope and delivery date(s) to be determined during initial discovery process, unless previously agreed upon and referenced in Notes section above.
Complete License Terms and Conditions may be found in the Master Subscription Agreement at 7mindsetsportal.com/agreement.pdf
Purchasing Terms & Approval
Purchase Orders (PO) may be sent directly to orderprocessing@7mindsets.com or faxed to (678) 550-9750. If applicable, please include current tax exempt form.
If a Purchase Order (PO) is NOT required, please Sign Below and an invoice will be generated and sent via email.
Invoice Instructions
School or District:
Attention:
Special Instructions (Reference PO or Requisition Number, etc):
Email:
Customer Approval
Upon signature by Customer and submission to orderprocessing@7mindsets.com, the Customer acknowledges and accepts the terms of thi order, pricing, applicable training dates and deliverables. All billing pertaining to this order form will contain the pricing and payment terms lis above.
Printed Name
Title
Signature



Quote Number

Expiration Date

Quote Date

00002521

7/27/2021

9/10/2021

Prepared By

Duane Moyer

Email

duane@7mindsets.com

Phone

+1 4043542930

CONTACT INFORMATION

Contact Name

Leslie Ousley

leslie.ousley@floyd.kyschools.us

Prepared For:

Floyd County Schools

Billing Address

106 North Front Avenue

KY 41653

Notes

Email

Quote Notes:

District SELECT Coaching solution to support district-wide implementation fidelity for three years.

School SELECT Basic for 12 Campuses - Pre-K through 12th grade, includes all Alternative Schools - public webinar trainings sessions for teachers, 2 coaching check in consultations, curriculum for staff, students and parents.

3 year agreement paid annually or a 3% discount in year 2 and 3 available if all three years prepaid.

Terms

License Start Date 7/1/2021

License End Date

6/30/2024

Subscription Terms 3 Year

Payment Terms

Net 15

Product	Product Description	List Price	Sales Price	Quantity	Total Price
District SELECT A - New Multi-Year	SEL Coaching for District implementation and rollout, Access for District Personnel to 7 Mindsets SELEQUITY Online Courses and Resources, 2 Adult SEL Virtual PD events	\$20,000.00	\$20,000.00	1.00	\$20,000.00
District SELECT A - Renew	SEL Coaching for District implementation and rollout, Access for District Personnel to 7 Mindsets SELEQUITY Online Courses and Resources, 2 Adult SEL Virtual PD events	\$20,000.00	\$20,000.00	1.00	\$20,000.00
District SELECT A - Renew	SEL Coaching for District implementation and rollout, Access for District Personnel to 7 Mindsets SELEQUITY Online Courses and Resources, 2 Adult SEL Virtual PD events	\$20,000.00	\$20,000.00	1.00	\$20,000.00
SELECT Basic - New	Full Access to 7 Mindsets SELEQUITY Online Curriculum and Resources, shared Virtual Professional Development Sessions, ongoing support	\$7,000.00	\$7,000.00	12.00	\$84,000.00
SELECT Basic - Renew	Full Access to 7 Mindsets SELEQUITY Online Curriculum and Resources, shared Virtual Professional Development Sessions, ongoing support	\$7,000.00	\$7,000.00	12.00	\$84,000.00
SELECT Basic - Renew	Full Access to 7 Mindsets SELEQUITY Online Curriculum and Resources, shared Virtual Professional Development Sessions, ongoing support	\$7,000.00	\$7,000.00	12.00	\$84,000.00

Subtotal

\$312,000.00

Grand Total

\$312,000.00



License applies to the following School(s) or Group(s) **Product Terms & Definitions** License Terms License to 7 Mindsets Online Portal means access to all Student and Educator Curriculum (Self-Paced, and Facilitated Group Modules), Resource Hub, Leadership Zone, Parent Resources, and all supporting materials. 7 Mindsets online portal may be accessed at www.7mindsetsportal.com. Renewal notification details will be sent sixty (60) days prior to License End Date. Invoices will be generated within thirty (30) days of License End Date. License delivered pursuant to License Start and End Dates listed in the above terms. **Professional Development Terms** 7 Mindsets Professional Development means Onsite and/or Virtual Training and Implementation Services. Scope and delivery date(s) to be determined during initial discovery process, unless previously agreed upon and referenced in Notes section above. Complete License Terms and Conditions may be found in the Master Subscription Agreement at 7mindsetsportal.com/agreement.pdf Purchasing Terms & Approval Purchase Orders (PO) may be sent directly to orderprocessing@7mindsets.com or faxed to (678) 550-9750. If applicable, please include current tax exempt form. If a Purchase Order (PO) is NOT required, please Sign Below and an invoice will be generated and sent via email. Invoice Instructions School or District: Attention: Special Instructions (Reference PO or Requisition Number, etc): Email: **Customer Approval** Upon signature by Customer and submission to orderprocessing@7mindsets.com, the Customer acknowledges and accepts the terms of this order, pricing, applicable training dates and deliverables. All billing pertaining to this order form will contain the pricing and payment terms listed above. Printed Name Title² Signature Date



Quote Number 00002522 Prepared By Duane Moyer

Quote Date 7/27/2021 Email duane@7mindsets.com

Expiration Date 9/10/2021 Phone +1 4043542930

CONTACT INFORMATION

Contact NameLeslie Ousley- FanninPrepared For:Floyd County SchoolsEmailleslie.ousley@floyd.kyschools.usBilling Address106 North Front Avenue

KY 41653

Notes

Quote Notes: District SELECT Coaching solution to support district-wide implementation fidelity for three years.

Year 1: School SELECT 1 for 12 Campuses - Pre-K through 12th grade, includes all Alternative Schools - Private trainings sessions for teachers, 3 coaching consultations, curriculum for staff, students and parents. Travel costs are for in-person school trainings and district coaching sessions. \$144,000

Year 2 and Year 3: School SELECT Basic for 12 Campuses - Pre-K through 12th grade, includes all Alternative Schools - public webinar trainings sessions for teachers, 2 coaching check in consultations, curriculum for staff, students and parents. \$104,000 Yr 2 and \$104,000 Yr 3

3 year agreement paid annually or a 3% discount in year 2 and 3, excluding travel expenses, available if all three years prepaid

Terms

License Start Date 7/1/2021 License End Date 6/30/2024
Subscription Terms 3 Year Payment Terms Net 15

Product	Product Description	List Price	Sales Price	Quantity	Total Price
District SELECT A - New Multi-Year	SEL Coaching for District implementation and rollout, Access for District Personnel to 7 Mindsets SELEQUITY Online Courses and Resources, 2 Adult SEL Virtual PD events	\$20,000.00	\$20,000.00	1.00	\$20,000.00
District SELECT A - Renew	SEL Coaching for District implementation and rollout, Access for District Personnel to 7 Mindsets SELEQUITY Online Courses and Resources, 2 Adult SEL Virtual PD events	\$20,000.00	\$20,000.00	1.00	\$20,000.00
District SELECT A - Renew	SEL Coaching for District implementation and rollout, Access for District Personnel to 7 Mindsets SELEQUITY Online Courses and Resources, 2 Adult SEL Virtual PD events	\$20,000.00	\$20,000.00	1.00	\$20,000.00
SELECT 1 - New Multi-Year	Full Access to 7 Mindsets SELEQUITY Online Curriculum and Resources, Adult SEL Virtual Professional Development Session, Implementation Coaching and Support	\$10,000.00	\$10,000.00	12.00	\$120,000.00
SELECT Basic - Renew	Full Access to 7 Mindsets SELEQUITY Online Curriculum and Resources, shared Virtual Professional Development Sessions, ongoing support	\$7,000.00	\$7,000.00	12.00	\$84,000.00



SELECT Basic - Renew	Full Access to 7 Mindsets SELEQUITY Online Curriculum and Resources, shared Virtual Professional Development Sessions, ongoing support	\$7,000.00	\$7,000.00	12.00	\$84,000.00
Travel	Travel Expense for Onsite Training Session	\$1,500.00	\$1,500.00	2.00	\$3,000.00
Travel	Travel Expense for Onsite Training Session	\$1,500.00	\$1,000.00	1.00	\$1,000.00

Subtotal \$352,000.00 Grand Total \$352,000.00

License applies to the following School(s) or Group(s)

Product Terms & Definitions

License Terms

License to 7 Mindsets Online Portal *means* access to all Student and Educator Curriculum (Self-Paced, and Facilitated Group Modules), Resource Hub, Leadership Zone, Parent Resources, and all supporting materials.

7 Mindsets online portal may be accessed at www.7mindsetsportal.com. Renewal notification details will be sent sixty (60) days prior to License End Date. Invoices will be generated within thirty (30) days of License End Date.

License delivered pursuant to License Start and End Dates listed in the above terms.

Professional Development Terms

7 Mindsets Professional Development means Onsite and/or Virtual Training and Implementation Services. Scope and delivery date(s) to be determined during initial discovery process, unless previously agreed upon and referenced in Notes section above.

Complete License Terms and Conditions may be found in the Master Subscription Agreement at 7mindsetsportal.com/agreement.pdf

Purchasing Terms & Approval

Purchase Orders (PO) may be sent directly to orderprocessing@7mindsets.com or faxed to (678) 550-9750. If applicable, please include current tax exempt form.

If a Purchase Order (PO) is NOT required, please Sign Below and an invoice will be generated and sent via email.

Invoice Instructions
School or District:
Attention:
Special Instructions (Reference PO or Requisition Number, etc.
Email:

Customer Approval

Upon signature by Customer and submission to orderprocessing@7mindsets.com, the Customer acknowledges and accepts the terms of this order, pricing, applicable training dates and deliverables. All billing pertaining to this order form will contain the pricing and payment terms listed above.



Printed Name	
Title	
Signature	
Date	